
ÿ(t )+3 ẏ (t )=u(t )

ÿ(t )+2 ẏ3
(t )+ y (t )=u(t )

y⃛(t )+5 ÿ (t )+2 ẏ (t )+ y (t )+ z (t )=u(t )
z̈ (t )+ ż (t )+ z (t )+ y (t )=v (t )

ÿ(t )+0.5 ẏ (t )+ y (t )=∫
0

t

u(τ)

y⃛ (t)+0.5 ÿ (t )+ ẏ (t)=u (t)

ÿ(t )+0.5 ẏ (t )+ y (t )=∫
0

t

u(τ)

y⃛ (t )+0.5 ÿ (t )+ ẏ (t )=u(t )

ÿ (t)+5 ẏ (t )+ y ( t )+ ż (t)+ ẋ (t)=0
ż (t)+z (t )+ ẋ (t )=u(t )

ẍ (t )+0.5 ẋ (t )+ x( t)− ż (t)=0

y⃛ (t)+5 ÿ (t)+ ẏ (t )+ y (t)+ ż (t)=u(t)
3 z̈( t)+0.3 ż (t)+z (t)− ÿ (t)+ ẏ (t)=0

y⃛ (t)+3 ÿ (t )|ẏ (t )|+0.5 ẏ (t)+ ẏ (t )2 y (t)=u(t)

ẋ (t)−10 ( y (t)−x( t))=u(t)
ẏ (t)+ y (t )−x (t)(30−z (t))=0

ż (t)−x (t) y (t)+
8
3
z (t)=0


